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Mote ; This question paper co neists of THREE Sections — A BandC

SEGTION - A
| 1. Very Short Answer Type questions
1y Answar guasiions. : e@f";
jpeEmet O reTETESTWOTERS.

1) Find the square root of the comp‘.é}i number 7 + 241

fiz,
2) hzy==1 and z, = |, then find ,qrg.l___-
)
3 1, m f..:-E are the cube roots aof uril’fl,l. iran find the valus of
2 2.5
(1=t W@ :|ﬁ+-:‘|+r.u-u.|‘J. ~

4) Form quadralic gquation whose rogis are =3 £ 6l

A =
-

5) !f the product of the rools of dx’ # ‘I_E:t"' -gx~a=m0is9 thanin
#) Find the number of ways of prepa-.'i;rjq;. chaln with 6 differant coour

ni'c,s"Cy 1 fing.' ¢ =
E.' o wan find  'en

3

#) Find the middia larm in the e:pa.mé_lhn ol ~ 2y

#) Find ihe méan davialion about thiﬂ'“‘lm"“" jor tha following data
o

4.8,08 2 10,13, 2.

10) A Poisson Varable sallsfies PiX =) m LN 21, Find P{X = 5)
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| M. Short Answer Type ques 5
(i} Answer ANY FIVE questions. L

(i) Eaeh question carries FOUR murkE

Ha4ly=— ] , than shew -Hﬂt-*rc -1=0.
1+msﬂ+lsmﬂ
1

1
that —— & = — dnus not lie between 1 and 4, If x |s real.
A2) Prove that = +‘I+x+1 TS TR i an

words thus formed are arrengad In JIE‘TIDrtﬁrgr order, find the rank of the word
FRISON. an

= 1)
14) Prove that N LT bl o
| / e [1.35..(2n=1)° 2

I /13} If thes |eltars of the word PRISOM are HLITFU od In all possibie ways.and the

B ol ' A

3

15) Resolva the following fraction Inte partis ||"rﬁr;lI-:|n_| = .“"_'-__
; (X #2) (x° +1)

_18) Find the probabllity that a non-leap year :urﬁa:rrs {l) 53 Sundays {lI) 52 Sundays only.
A problem In caloulus Is glven to twe studepis A and B whose chances of solving
It are % and l respactively. Find the probalility of the problam belng solved it

both of them try indepandantly, =

SECTION SiC (5x7=35)
| I, Long Answar Type questions. ' i

- - p\.- ll-l'uf I-|'|l|- =
il “1 |I-'f'|' I-lu-'u-'u Hhid

(i) Each question carries SE‘u’EN Mk
~T8) If o, p ara the rants af the equation r; - Ph-a- 4 = 0. then for any nEN show that

al+p"= 2™ cos 3'

)

I J

I'l_'-

‘{9} Bolve the equation X —x' 07 -0 4 k-1 =0
20) I nls a posilive ||'|1Eg.5r and ¥ |e By n{m zido raal number, then prove that
e A8 TR
2* 23 * 3'7‘ W {(n+1) x
4 48 ‘EF .00, thE0 prnwg"-tl-ataue 6.
B 6510 B. 10,16
22) Find the variance and | standard deviation ul‘:ha fallowing fraquenay distribution,
=l s LB | ]z ?1:[24 82
v i o o] @ 1
33) State'and prove Baye's (haoram on pranEﬁllp.
24) A random varable X has the fallowing probability distributian
X=x | 0| 1 3 | 4] 5 | 8 | 7
3 Py ) =
Lgpc:_n: p k | 2% [ % ]| 36| ¥ "'I_': 7K + k|
Find {0k, (i) The mean and III‘F‘-'H <X < 5)
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Note : Ths question peper consist&of THREE Sections —

SEETION-A (10x2=20)

. Very Short Answer Type questions.
() Answer AL questions.
(eBwer: < TR TWOTIATEE

1) Findhe sauare root o the compiéX ruber 7.+ 24
2) zy=-1 andz,
3) 111,07 are the cube roots of urlty, then find the value of

=mac)®+ (1 +0-0%

4 Formquacratic squation whose ra@ls are =3.28

8 I he product o the roots of 4’ + 16" - 9x =8 =018

) Find the number of ways of prepariige chain v
. tan nd Gy
8) Find the middie term in the expandibn of
9) Find the man deviation aboul heffecen
4,8,9.9.10.13,2, ’
40) A Poisson Waie sasfos P(X =18 =
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